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REMETERRAKE MEBKEABRERBEES

FROKEERE 8:30

KEHXBRBER (BLIEKE HKkHF RK )
B Kz KR KB A E pH FIAY FEE EH 1By % E8% i
E REY 1+ HY
‘C C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 £ 8.0 9.7 5.6 1.77
2 5] 12.0 11.3 4.3 7.68
3 i 5.5 10. 4 28.6 1.5
4 £ 4.5 9.5 1.1 7.74
5 s 9.5 1.1 6.5 1.77
6 £ 9.5 11.0 6.1 7.19
7 £ 9.5 13.2 7.6 7.19
8 5] 7.5 9.7 8.2 1.717
9 i 7.0 10.6 18.9 1.7
10 g 8.0 11.4 9.7 1.75 57.0 76.0 154 1.3 0. 62 0.02
11 i 6.0 12.6 19.2 7.82
12 £ 10.0 12.4 8.6 7.80
13 5] 7.5 10.5 9.2 1.77
14 g 8.5 9.4 52.9 7.63
15 i 11.0 11.6 21.1 1.77
16 g 5.5 12.0 18.7 1.75
17 i 10.0 12.9 8.2 17.76 56.0 75.0 146 9.3 0.83 0.02
18 5 8.0 12.6 12.1 7.75
19 i 9.5 12.9 19.8 1.77
20 5 11.0 13.2 39.9 7.78
21 5] 13.5 13.6 21.2 7.19
22 5 11.0 11.5 1,224 7.94
23 i 5.0 9.3 159 7.63
24 5 4.5 10.2 61.3 7.74
25 i 9.0 11.6 48.3 7.78
26 5 8.0 11.4 24.5 7.80
27 i 9.5 11.9 50.5 7.81
28 £ 13.0 12.9 12.0 7.86
29 i 13.0 12.6 21.3 1.75
30 g 12.5 13.1 93.6 7.13
31 & 13.0 14.2 13.3 1.72
1y 9.0 11.6 66.2 7.76 56.5 75.5 150 10.3 0.73 0.02
= 13.5 14.2 1,224 7.94 57.0 76.0 154 11.3 0.83 0.02
1K 4.5 9.3 4.3 7.63 56.0 75.0 146 9.3 0. 62 0.02




Ml 3% 3AN

REMETERRKE MEBKEABRERBEE

FROKEERE 8:30

KERBRER (BLIEKE &Kt (8K )
Kz SR KB A E pH FIAY REE EH 1By % £ &
E REY 1+ HY
‘C C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 £ 8.0 9.1 1.1 7.56

2 5] 12.0 10. 6 0.7 7.49

3 i 5.5 10. 4 1.5 7.56

4 £ 4.5 9.8 1.2 7.45

5 s 9.5 10.5 1.0 1.47

6 £ 9.5 10.7 1.3 7.54

7 £ 9.5 11.6 1.0 7.56

8 5] 7.5 11.2 1.7 7.59

9 i 7.0 10.3 0.9 7.46

10 g 8.0 1.1 0.8 7.56 52.0 75.0 134 10.0 0.05 <0. 02
11 i 6.0 11.8 1.0 7.55

12 £ 10.0 12.0 1.0 7.48

13 5] 7.5 10.5 0.9 7.54

14 g 8.5 10.7 1.9 7.46

15 i 11.0 10.7 1.0 7.44

16 5 5.5 11.2 0.7 7.48

17 i 10.0 12.1 1.0 7.49 51.0 74.0 131 8.8 0.04 <0. 02
18 g 8.0 12.2 1.0 7.48

19 i 9.5 12.4 0.9 7.48

20 5 11.0 13.2 1.0 7.54

21 5] 13.5 13.8 1.0 7.56

22 5 11.0 13.7 1.1 1.47

23 i 5.0 10.7 0.7 1.27

24 5 4.5 10.2 1.1 7.32

25 i 9.0 11.3 0.7 7.34

26 5 8.0 11.6 0.8 1.37

27 i 9.5 12.3 0.8 7.46

28 £ 13.0 12.5 0.9 1.47

29 i 13.0 13.0 1.0 7.45

30 g 12.5 12.7 0.8 7.33

31 i 13.0 13.7 0.8 7.40
1y 9.0 11.5 1.0 7.47 51.5 74.5 133 9.4 0.05 <0. 02
= 13.5 13.8 1.9 7.59 52.0 75.0 134 10.0 0.05 <0. 02
1K 4.5 9.1 0.7 1.27 51.0 74.0 131 8.8 0.04 <0. 02




